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The rise and fall of the tides and waxing and waning of the moon
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Modern translation
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AEEH English translation

The Sea surface periodic going up and down is decided by the moon.

And also it affected by weather.

The rise and fall of the tides are affected by waxing and waning of the moon.

Every month from 15t to 15% is flood tide. From 3™ to 18t is medium tide. From 7t to 22" is neap tide. So it is divided every five days.

The new moon is appeared when before and after three days that are in the first day of month. Then the surface is flat between 10p.m. to 2a.m.
And then it spend 7hours and twenty minutes,the moon and the sun appear in the sky and facing each other.

When before and after three days of 15, a tide goes out for west side when the moon goes for east side.

The waxing crescent moon appears when 7t ,8th and 9t Then there become neap tide. The waning moon appears when 22"9,237 gnd 24t ,
Then there become flood tide. In this why the waxing and waning of the moon is decided according to rise and fall of the tides.

Day and day of the summer and spring, evening and night of the winter and autumn. When a year of spring and autumn,Roughly, spring
is bright and winter is dark.It’s the same as the full moon when a year of spring and autumn. Thus when there is always a large tide
when the spring and autumn. When the wave is very large when the new moon (per day)and the full moon (the 15th).

In addition, the ebb of the phases wax and wane of the moon and the morning and evening of sea water movement in the same way, this
can not be said to be anywhere in the world the same.

Ebb will vary by time of day. Day and night to pull filled twice or once, three, four, seven, will be eight full pull. However there is also a
place don’t wax and wane is full of seaside.

The full moon is out of the roughly from Edo to Kishu. Four times, the distance of the Kishu to Edo from Shiraishi.

Beginning filled from Kishu (Wakayama Prefecture), it is drawn starting with Harima (Hyogo Prefecture).

/\ It can be said is the same thing in Harima and led to Bingo (Hiroshima) from Harima.

/\ Nagato (Yamaguchi Prefecture) down from begins pulling tide over the 4th.

/\ Roughly from the cove of Kumanogawa basin of Kishu to Hizen (Saga, Nagasaki Prefecture) of the full moon is out.

/\ Tsukushi (Kitakyushu) Btsutyuu from Kanesaki (Okayama Prefecture) about two hundred ninety-five kilometers tide until Shiraishi is
plugging.

/\ Chikushi slope Roh function Insert tide from, half until Ueno-seki hit the tide above in Shiraishi rise refers to Shiraishi, both about two
hundred ninety-five killo meters, divide into two branches.

/\ Kumanoura, Plug tide from Kyushu, tide hits in Shiraishi of about two hundred ninety-five killo meters Bitchu.

/\Akashi of tide is one hour slower than Osaka.

/\ Tide of Btsutyuu is four hours slower than Harima.

High tide of Btsutyuu is two hours slower than Bizen

Shiraishi of high tide is six hours slower than Osaka.

Continues examined northern tide ebb 57 days.

The noted this before Katashio,

it showed that there is not a place where there is a valuable place in the Arctic.

| asked as make ends meet in the village get to join the good people to guess to each location instead.
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We took a lot of time to read and understand them from these sentences.
We try to comprehend perspective based on Edo’s way of thinking and today’s matter.
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This question is about “the waxing and waning of the moon” and “the rise and fall of tides”.
We found that the tides are different wherever and whenever.
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It’s difficult to solve this questions because we have not ever solved such a question.
But we could have a special time because of knowing about Edo’s way of thinking.
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